ReTFAN & E&OME 31B\LLE 01

ROFHEEZT L. (S0P, A4, B#15208, C#24)

(1) 5+8+9 (2) -3-6-7

(3 3-9-2 (4) 5-8+4

(5) 5—T+4-2 6) —5+10—-2+1
(1) 12-154+18—15 (8) —27—14+31+19
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ROFHHEZE L. (S35, A0, BR13308, Cf24)

(1) 44749 (2 —-4-6-9

3 2-8-3 (4)  4-7+5

(5) 6-7+3-8 6) -9+8-2+4
(1)  16—13+14—19 (8 —23-15+35+18
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R&7T X

;I8 EROME 3HEELE o1

mRERER

1. XoiEZEX. (SHK30W, Afkas®, Bik15 208, Cc#H24y)

* BHIIRIBTEDS
+9—-15+47

= 49+47-15
= +16-15

(1) 5+8+9
=22

(3) 3-9-2
=3-(9+42)
=3-11
= -8

(5) 5—T7T+4-2

— (5+4)— (T+2)
=9-9

=0

(7) 12—-15+18—15

<X +9, -15, +7 D 3 1M
< +7 ¢ —15 DB
— +9+7 mEE

= (124 18) — (15 + 15)

=30-30

=0

(2)

(6)

(8)

—3-6-7
= —(346+7)

=—16

—5+10-2+1
= (10+1)— (5+2)
=11-7

=4

—27 — 14431+ 19
= (31 +19) — (27 + 14)
=50 — 41

=9
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2.

ROFHHEZE L. (S35, A0, BR13308, Cf24)

(1) 44749
=20

3 2-8-3
=2 (8+3)
=2-11
=-9

(5) 6-7+3-38
=(6+3)—(7+8)
=9-15

= —6

(7)  16—-13+14—19
= (16 4+ 14) — (13 +19)
=30—32

=2

(2) —-4-6-9
=—(4+6+9)

=—19

6) —-94+8—2+4
=(84+4)—(9+2)
=12-11

=1

(8) —23—15+35+18
= (35+18) — (23 +15)
=53 — 38

=15
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